TGT SOCIAL STUDY

1. Who launched the 90-day campaign 'Azadi Se Antyodaya Tak'?
(A) Amit Shah

(B) Piyush Goyal

(C) Kiren Rijiju

(D) Giriraj Singh

Correct Answer: (D)

2. Which country signed agreements on training staff and IT cooperation to deepen railway
cooperation In Sep 2022?

(A) Russia-India

(B) Ukraine-Turkey

(C) India-Bangladesh

(D) America-India

Correct Answer: (C)

3. The “Donbas War” is currently being fought in
(A) Serbia

(B) Ukraine

(C) Syria

(D) Lebanon

Correct Answer: (B)

4. Pedagogy is the study of
(A) education

(B) learning process

(C) teaching methods

(D) guiding students

Correct Answer: (C)



5. Dyslexia is associated with
(A) mental disorder

(B) mathematical disorder
(C) reading disorder

(D) behavioural disorder
Correct Answer: (C)

6. Which government organizations will develop guidelines for the education of gifted
children?

(A) NCERT and NCFCS

(B) NCERT and NCTE

(C) NCERT and NTA

(D) NCERT and SCERT
Correct Answer: (B

7. Which one is of the following is the world’s richest regions from a marine
biodiversity perspective, comprises 21 islands with estuaries, beaches, forests of the
nearshore environment, sea grasses, coral reefs, salt marshes and mangroves.

(A) Gulf of Mannar Biosphere Reserve
(B) Nanda Devi Biosphere Reserve
(C) Sunderbans Biosphere Reserve
(D) Nilgiri Biosphere Reserve

Correct Answer: (A)

8. Match the following:

Animals/plants Category of existence
1) Black buck a ) Endemic
2) Asiatic elephant b) Rare
3)Andaman wild pig c) Endangered
4) Himalayan brown bear d)vulnerable
Option:

(A)1-a,2-b,3-c,4-d
(B) 1-b,2-a,3-d,4-c
(C) 1-d,2-c,3-a,4-b
(D)1-c,2-d,3-a,4-b

Correct Answer: (D)



9. Assertion (A): Transportation of people and goods by road transport is not new in
India.

Reason (R): Since ancient times, pathways and unmetalled roads have been in use for this
purpose.

(A) Both A and R are true and R is the correct explanation of A.

(B) Both A and R are true but R is NOT the correct explanation of A.
(C) Ais true but R is false.

(D) A is false and R is true

Correct Answer: (A)

10. Assertion (A): Surface water available from rivers, canals, lakes, etc. is never pure.

Reason (R): It contains small quantities of suspended particles, organic and inorganic
substances.

(A) Both A and R are true and R is the correct explanation of A.

(B) Both A and R are true but R is NOT the correct explanation of A.
(C) Alis true but R is false.

(D) Ais false and R is true

Correct Answer: (A)

11. Consider and evaluate the following statements and choose correct option from the
given options

I. Very large volumes of mail continue to be handled by post offices all over the world
I1. All forms are not fully disassociated because of the cheapness of the older system
Options-

(A) Only 1 is true

(B) Only 2 is true

(C) Both 1 and 2 are true and statement 2 correctly explains the statement 1

(D) Both 1 and 2 are true but statement 2 does not explain the statement 1 correctly

Correct Answer: (A)



12. Who hosted the treaty of Vienna in 1815?
(A) Bismarck

(B) Mazzini

(C) Duke Metternich

(D) William |

Correct Answer: (C)

13. In the questions given below, there are two statements marked as Assertion(A) and
Reason(R).

Assertion(A): Treaty of Vienna was signed in 1815.

Reason(R): The main objective was to undo the changes that had come about in Europe
during Napoleonic wars.

Read the statements and choose the correct option.

(A)Both A and R are true and R is the correct explanation of A.
(B) Both A and R are true but R is not the correct explanation of A
(C)Ais true but R is false.

(D) A is false but R is true

Correct Answer: (A)

14. Match the term with the statements given below:
A ‘Utopian Society’ is

Q) a society under a benevolent monarchy

(i) asociety that is unlikely to ever exist

(iii)  asociety under the control of a chosen few wise men
(iv)  asociety under Parliamentary Democracy

(A) (i) and (ii)
(B) (ii) and (iii)
(C) (i) only
(D) (iii) only

Correct Answer: (C)



15. Match the following:

Column A Column B

Attribute Significance

1) Broken chains a) heroism

2) Breastplate with eagle b) readiness to fight

3) Crown of oak leaves c) being freed

4) Sword d) willingness to make peace

5) Olive branch around the sword e) symbol of the German empire-strength
Option:

(A)1-a,2-b,3-c,4-d,5-e
(B) 1-b,2-c,3-d,4-a,5-e
(C) 1-d,2-a,3-b,4-e,5-c
(D) 1-c,2-e,3-a,4-b,5-d

Correct Answer: (D)

16.  Which of the following is true with reference to Romanticism?

(A) Concept of government by consent
(B) Freedom for the individual

(C) Cultural movement

(D) Freedom of markets

Correct Answer: (C)

17. Match the following:

List-I List-11
1 | Congress party a | National democratic alliance
2 | Bharatiya Janata party b | State party
3 | Communist party of india c | United progressive alliance
4 | Telugu desam party d | Left front
Option:

(A)1-c,2-a,3-b,4-d
(B) 1-c,2-d,3-a,4-b
(C)1-c,2-a,3-d,4-b
(D) 1-d,2-c,3-a,4-b

Correct Answer: (A)



18. Consider the following statements on parties.
A. Political parties do not enjoy much trust among the people.

B. Parties are often rocked by scandals involving top party leaders.
C. Parties are not necessary to run governments.

Which of the statements given above are correct?

(A)A,B,and C
(B)Aand B
(©)BandC
(D)Aand C

Correct Answer: (D)

19. In the following questions, the Assertions (A) and Reason(s) (R) have been put
forward. Read both statements carefully and choose the correct answer from the below:

Assertion (A): In a democracy, everyone has voice in the shaping of public policies.
Reason (R): India has federal system.
Option:

(A) If both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) If both Assertion (A) and Reason (R) are true but Reason (R) is not the correct
explanation of Assertion (A).

(C) (A) istrue but (R) is false.

(D) Both (A) and (R) are false.

Correct Answer: (B)



CASE STUDY BASED QUESTION:

To the altar of this revolution, we have brought our youth as incense’. Many nationalists
thought that the struggle against the British could not be won through non-violence. In 1928,
the Hindustan Socialist Republican Army (HSRA) was founded at a meeting in Feroz Shah
Kotla ground in Delhi. Amongst its leaders were Bhagat Singh, Jatin Das, and Ajoy Ghosh.
In a series of dramatic actions in different parts of India, the HSRA targeted some of the
symbols of British power. In April 1929, Bhagat Singh and Batukeshwar Du3 threw a bomb
in the Legislative Assembly. In the same year, there was an a3empt to blow up the train that
cord Irwin was traveling in. Bhagat Singh was 2: when he was tried and executed by the
colonial government. During his trial, Bhagat Singh stated that he did not wish to glorify ‘the
cult of the bomb and pistol’ but wanted a revolution in society ‘Revolution is the inalienable
right of mankind. Freedom is the imprescriptible birthright of all. The laborer is the real
sustainer of society Z To the altar of this revolution we have brought our youth as incense, for
no sacrifice is too great for so magnificent a cause. We are content. We await the advent of
the revolution. Inquilab Zindabad

20. Why Hindustan Socialist Republican Army was formed? With reference to the
above context, infer the appropriate option.

(A) To fight against the British colonial rule with the principle of non-violence
(B) To fight against British colonial rule in India

(C) To achieve independence for the country through an armed rebellion

(D) Both (B) and (C)

Answer: (B)



